totalPwr/median

totalPwr/median

scan:205100005 az,za: 290./

14.1 tm:00:10:40 pol A

O"‘ O T T T ‘ T T ‘ ‘ T ‘ T ‘

medLagO: 1.27 1.00 1.03 1.09 0.88 1.19 1.15 |
0.08 -
0.06 ol Wb M Vof sty AT
WW‘V

I M ‘ {
oNord o LA NN WWMW e Pyl WWWW st
0.00—

1 ‘ 1 ‘ 1 ‘ 1 1 ‘ 1 ‘

0 200 400 600 800 1000

sample in strip
yymmdd: 120220 pol B
O"‘ O T T T ‘ T T T ‘ T T T ‘ T T T ‘ T

- medlLagO: 1.19 1.02 1.04 1.13 1.22 1.11 1.00 s
0.08 -
. ﬂm W
0.04 '

» | :
0.02 f MWW A a ™Rt
0.00— ‘

1 ‘ 1 ‘ 1 ‘ 1 1 ‘ 1 ‘ 1

0 200 400 600 800 1000

sample in strip



scan:205100036 az,za: 256.0  15.17 tm:01:00:30 pol A
O"‘O T T T ‘ T T T ‘ T T T ‘ T T T ‘ T T T ‘ T T T
| medlLag0: 1.26 1.04 1.02 1.08 0.89 1.0 1.04 _
0.08 |
c 0.06 7
< “
9
<)
€
>
Z 0.04
E
I
0.02
0.00
f -
1 ‘ 1 ‘ 1 ‘ 1 1 ‘ 1 ‘
0 200 400 600 800 1000
sample in strip
yymmdd: 120220 pol B
O"‘O T T T ‘ T T T ‘ T T T ‘ T T T ‘ T
- medlLag0O: 1.20 1.01 1.01 1.17 1.01 1.17 1.00 .
0.08 — -
< 0.06
o -
9
<)
€
} =
Z 0.04
6 -
E L
0.02 [*
0.00 —
‘Y
1 ‘ 1 ‘ 1 ‘ 1 1 ‘ 1 ‘ 1
0 200 400 600 800 1000

sample in strip



totalPwr/median

totalPwr/median

scan:205100039 az,za: 250.9 9.7 tm:01:25:56 pol A
O"‘ O T T T ‘ T T T ‘ T T T ‘ T T T ‘ T T T ‘ T T T
: medLagO: 1.20 1.27 1.22 W,OTT; 0.87 0.98 1.23 :
0.08 l -
s‘u :
I m"\d;"y’M‘M"V\/A ) ‘/‘r\‘ﬂ ‘Jf‘ \ ““ \“
0.06 — gt Y IR R APAL
\A' : ‘
0.04 f~ A W"
: N |
SRTR | e
0.00 —
. 1 ‘ 1 ‘ 1 ‘ 1 1 ‘ 1 ‘ 1 ]
0 200 400 600 800 1000
sample in strip
yymmdd: 120220 pol B
O"‘ O T T T ‘ T T T ‘ T T T ‘ T T T ‘ T
- medlLagO: 1.15 1.22 1.22 111 1.21 1.11 1.00 .
0.08 — -
- ‘ ‘
" ' ‘ ‘ | 7
b r el Vot
S
0.00 — -
. 1 ‘ 1 ‘ 1 ‘ 1 1 ‘ 1 ‘ 1 ]
0 200 400 600 800 1000

sample in strip



totalPwr/median

totalPwr/median

scan:205100070 az,za: 139.4 5.6 tm:02:13:18 pol A
T T T T T T T T ‘ T T T

O"‘O ‘ T T T ‘ T T T ‘

L]
rﬁedLOgO: .74 116 1.21 1.01 085 1.15 1.10

0.08H1

0.06 || . .

0.04 "M*
bt
it

0.02

0.00
1 ‘ 1 ‘ 1 ‘ 1 1 ‘ 1 ‘ 1
0 200 400 600 800 1000
sample in strip
yymmdd: 120220 pol B

O"‘O T T T ‘ T T T ‘ T T T ‘ T T T ‘ T

- medlagO: 1.14 1.23 1.19 1.09 1.19 1.05 1.00
0.08 —
0.06 /\ /\

| ‘ IR L v o
i 1

e

0.00 —

0 200 400 600 800 1000
sample in strip



scan:2051000/5 az,

za: 110

.0

3.3t

m:02:36:45 pol A
T T T ‘ T T T

0.08 |

0.04

totalPwr/median

0.02 1

0.00

0.06 ||

\
Hn\edL@gO: .16 1.20 1.00 1.05 0.86 1.18 1.13

600
sample in strip

800

1000

0.08

medLagO: 1.17

0.99

yymmdd: 120220 pol B
‘ T T T T

1.24

.11 1.20 1.0/

1.00

0.06

0.04

totalPwr/median

0.02

0.00

600
sample in strip

800

1000



